’. )
EIKF

BIREAXEFERBERFIEAS

[ 20244124 7H (L

B F  E R R

)~ 12H8H(H

) FUREGERH/ HARESR ]

KTN—THRDFE] hv—2)= EALERE (BERY—2)>BEERRCUEMEE  XBREROBE] (Ov—2)=B5 (Xy—2)>A1

F9UVR1 1EEH ZNV—7 A (AJd—h)

F — A & El2 ¥ % B[ JEAL
5 05 T EHE I r 39.90] 1
4 04 BAERHIEX @ (RERER) A ITVFY 38.30] 2
3 03 BIFEG (BESRK) JILIL>T 7 38.10] 3
1 01 SFED (FEAIESR) I ¥ 37.20| 4
2 02:E8XQ (RHRESRK) JILILCTF 36.20] 5
SYYR1 1EH Z)V—7 B (D3d—h)
F — L & Hk £ ¥ £ B | JEAL
5 10580 (B+HEKXT) LI T 7 39.70] 1
1 06 5IFED (RILERESR) I P 37.30] 2
3 08 BIFEQ (EEEIFESRK) h>oosay 37.10] 3
4 09 (MR @ (GHEBIR) LIV T 7 36.00] 4
2 07 LEEHERD MEAR I ¥ 34.80] 5
IV R1 1[EE Z)V—7 C (CI—h)
F — A & ElZ2 ¥ £ B | JEAL
13¥EQ (B5EKXY) I ¥ 4050 1
11 BFE® (HERaR) I FE 38.70] 2
4EARMED (FEE) ILIL>T 7 38.00] 3
12 AR (BFEE) JILIL>TF 37.80] 4
15 LEMBIRQ (EE—BH) I P 34.70] 5
SYR1 1EH Z)V—7 D (Fa—h)
F — A & El2 ¥ £ B | JEAL
0FRHEG (BEEER) I P 3950 1
17 &56E0 (KIRFESK) JILIL>TF 39.40] 2
19:ESMREO (FREAF) JILIL>TF 39.20] 3
16 &5E6 (HAMESK) LY T 7 36.80| 4
18 i (HEERASK) I ¥ 36.60] 5
S9YR1 26 H ZNV—F A (Ad—F)
F — A & El2 2 £ R | RIfE | /8 [ JEAL
5 0s 2T EHE doamsks gy [4050[39.90(40.20] 1 *
3 03 BIFEG (BESRK) N—TF—L> 38.60[38.10[38.35] 2 *
4 04 BARHIE @ (REEB) -+ 38.30]38.30(38.30| 3 *
1 01 HERED (FALESR) H>hs 37.30[37.20(37.25] 4
2 02 EEMXQ (FHMRESH) Z—IN—1) o ~RA 35.80[36.20[36.00] 5
SV R1 2E[H Z)V—7 B (DI—h)
F — A & Mk £ ¥ £ RoEA | RIBA | B [IEAL
5 105580 (B+EAS) 7—FY 40.30]39.70[40.00] 1 *
1 06 HIFED (RIERESRK) d2awiksaw [38.20]37.30[37.75] 2 *
3 08 &HiFEQ (BEAIFESR) IR — 37.10/37.10]37.10] 3 *
4 09 WMHX D (CHAEIR) 7—F 36.30]36.00(36.15] 4
2 07 LEHHER D MEAR V—Fv 35.70]34.80]35.25] 5
SV R1 2 H Z)V—7 C (Ca—h)
F — A & Eli2 2 £ R2BA | RIBA | A [EAL
13FEQ (BiEKXF) doag<ks g™ [4000]4050(40.25] 1 *
11 5FE0 (HRERASR) IR — 39.50(38.7039.10] 2 *
12 AR (BFEIE) Z2—=NN—1)oRA 38.60]37.80]38.20] 3 *
4ERMRD (TEE) N—TF—L > 37.30]38.00(37.65] 4
15 LEHHEQ (IFE—5K) 22wk 3w [34.20[34.70[3445] 5
SV R1 2[E[H Z)V—7 D (Fa—h)
F — A & Gl 2 £ R | R1Bs | 75 [ IEAL
E 20 R HEG (BEEER) dPaviEksaw [41.70]39.50(4060] 1 *
= 17 5E0) (KREFEER) N—TF—L > 40.80(39.40[40.10] 2 *
1R SXO (REAF) -+ 40.10(39.20[39.65| 3 *
= 18 R (MRERSR) doavsks gy [36.80]36.60[36.70] 4
1 16586 (BFEMESR) —F> 36.50[36.80]36.65] 5
1/2 NS FIEEA 4 H A28 P




BIREAXEFERBERFIEAS

[ L)
T
JIKIF ([ 20244128 7H () ~ 12H8H (H) HEEELE/ HAREL ]

B F  E R R

XRIN—TEROBE] kv—2)= EALEHE (BEAY—2)>BERRICUEEE  XNREROSEE) (Ov—2)=>8b (Xv—2)=Al)

SOVE 2 7V —7 AB (Ad—h)
F — A % Hitk% 2 % B | MEfE
05 DT EHE Y R— 40.80] 1 *
1055E0 (BLEXT) Z—=IN—JorRA 40.60| 2 *
03 ZIFEG (RESR) P 38.10] 3
08 HiAEQ (EREIFERR) dYavsksay 38.00[ 4
06 ZfAED (EAFHERR) V—F> 3750] 5
04 EARMX @ (ERRED) N—F—L> 36.80] 6
SV R 2 Z7)V—F CD _(CI—F)
F — £ Hitk% % % B[ AT
i 20 BRI G (BEER) OYR— 41.70] 1 *
i 13 EQ (BEKYF) JYR— 41.20] 2 *
17 20 (KIRFEER) -+ 40.70| 3
11 5550 (HREESR) doavsksay 39.10] 4
2 AR (BRE) -+ 38.60| 5
A 1 ARMX D REXZ) Z—=IN—Uo~RA 3750 6
PREHE (BI—1)
F — L & Eli22 2 % B B E
10¥E0 (BHEXT) 7—F> 43.40 O
13558 (BEXT) davskyaw 41.30 X
B E (AJ—Dh)
F — L % Hith& % % BA B E
1 E 05 DT EHE e 45.90 O
2 0BERMXG (BEEE) doavsksaw 43.20 X
2/2 ARWEFEA 2 HAZE 3@




’. )
EIK{F

)~ 12H8H(H

) FUREGERH/ HARESR ]

BIREAXEFERBERFIEAS

[ 20244124 7H (L

L EAAZ 2 2

KTN—THRDFE] hv—2)= EALERE (BERY—2)>BEERRCUEMEE  XBREROBE] (Ov—2)=B5 (Xy—2)>A1

F9VR1 1EH Z)V—7 A (BI—h)

F — A % itk 2 £ B[ JEAL
02 BFHEQ (BAMESR) LT 7 39.70| 1
03 BfEE6 (RERERSR) —— 1R 38.40| 2
01 BFEG (MEZEER) ——NAR 37.20] 3
04 LEBRED (MAKBER) ——N\AR 36.40| 4
SvR1 1EEH Z)V—7 B (BId—h)
F — A & Hitk% 2 £ B | JEh
4 08 FEQ (BEAF) hooo484 41.10] 1
3 07 S5E® (BEXSRK) ——N\_TR 39.60| 2
2 06 Ea X (BREEAE) ——/)\TR 38.50| 3
1 05 WX (ZIBE) LT 7 36.80| 4
SYVEL1EE ZMV—7 C (Ed—K)
F — A & Hitk£ ¥ % B[ MEAL
1 13 580 (\EFESRK) IFE 40.10] 1
= 10 516520 (KIRFESR) IIIL>T 7 38.30| 2
= 09 BBt (HRIEASR) I P 37.70| 3
= 12 BRX0 (FEATFRER) NyH1484 37.70| 4
= L AN GRgIR) LT 7 35.40] 5
SUVEL1EE JNV—7D (Ed—K)
F — A % itk ¥ £ B | NEAL
17F:80 (BLEAT) —— XK 4040 1
16 5iF&06 (HEFESK) ——X1R 38.60| 2
15 EEXQ (RBmEEER) LT 7 37.10] 3
14 HEIRQ (MEE—2R) I P 35.90| 4
SV R1 2 H Z)V—F A (Bd—h)
F — A % Hitk% # £ ReBA [RIBE | B [JERL] |
02 BFHEQ (BAMZEER) N — 40.10]39.70/39.90| 1 *
03 BIEEE (RAEKXERSK) —-F> 38.90(38.40(38.65| 2 *
01 55506 (EZEER) -+ 36.80/37.20(37.00] 3 *
04 LEBRED (MAAEK) —F > 36.30/36.40/36.35| 4
SvYR1 2[EEH Z)V—7 B (Bd—h)
F — & & Hik % % ROBA [RIBA | B | JEAZ [ |
08 FEQ (BEKXF) Avh 39.00[41.10/40.05] 1 *
0TBFE@ BEXSK) N—T—L> 39.00/39.60/39.30] 2 *
06X HMX ) (FREEAF) IN—T—L> 38.90/38.50(38.70| 3 *
05 WX (ZIFE) - > 36.10(36.80 3645 4
SUVEL 2 H ZNV—7 C (Ed—K)
F — A & Hitk£ ¥ % ROBA [ RIBH | B [JERL] |
= 13 5FE0 (NEXEER) YR — 40.20140.10[40.15] 1 *
= 10 21680 (KIRFEER) IN—T—L> 37.90/38.30(38.10] 2 *
=l 09 BBt (HRIEASR) d a9k 39 [37.70/37.70[37.70| 3 *
= 12 BFBX0 (FRATRER) FyAo¥5 - 9-%v9—-13740[37.70|3755| 4
A L AR GRigE) —F> 34.90]35.40/35.15] 5
SV R1 2EH Z)V—7 D (Ed—h)
F — A & Hitk% 2 ReBA [RIBA | B [JERL] |
4 B 17FE0 (BLEKXT) FRUNYHA 40.30/40.40 [40.35] 1 *
3 Kl 16 5FEQ (REFEER) —-F> 38.20/38.60(38.40| 2 *
2 B 15 AR Q (REBmEaR) N—T—L> 37.00(37.10(37.05] 3 *
1 A 14t ERQ (IMAE—BR) a9k 39 [3560/3590(35.75] 4
1/2 AR & HARZS @S




’. ([ . : . R
% SEeOsrFEOGREFEAS

(2024412A7H (L) ~ 12A8H(H) HRREHE/HAREA )

L EAAZ 2 2

XRIN—TEROBE] kv—2)= EALEHE (BEAY—2)>BERRICUBEE O XNREROSHE) (Ov—2)=>8b (Xv—2)=Al)

SuvR 2 27)V—7 AB (B2—h)
F — A & Hthg % £ B[ JEAL

08 FEQ (BIEAF) :l TagiikRay 41.40] 1 *
02 BEHXQ (HFRESRK) —-F 4130 2 *

03 5FEG (REAERSHR) /\"—7"— L> 39.30] 3

07 SEE® (BERSR) 7T—FY 3890 4

06 X O (lREAZ) 7—F 38.20] 5

01 2IFEC (MEAZESR) N1 — 36.40] 6

S9YR 2 Z7)V—7 CD _(Ed—h)
F — AL & El2 % B | JEAL

1750 (BLEKXS) FyEIVS - O— #/7— 41.20] 1 *
13 5580 (NEZEER) doawiksay 4040 2 *

1 16 5FE0 (BEFEER) FyRo¥S5-—H>H— [3880] 3

1 10 5FEQ (KIRFEESR) 7=F 3850 4

Sl 09 Rt (MRERAER) Pr 37.80] 5

= 15 ESHRQ (REmEEER) i 36.60] 6

SMPERR (BO—1)
F — AL & Htk% % £ BiR B i
1 E 02 BEFMXQ (HFMESK) 7T—F> 40.90 X
2 13 5FED (N\EXZESER) YR — 42.20 O
B MR (AJ—h)
F — b % Hith% 2 % R B

1 E 08 FEQ (BEAF) dJaviksay 42.60 X
2 17THEEQ (BLEKXF) FRUNYHA 43.90 O

2042 RIBHFEAN £HAZEFEEE



